Lecture 12: main exercises

FExercise 12.1. Recall the sheaves
1
Pis = Og, ® det(Lo /L)* [5k(n — k)]
as well as the convolution varieties
k k
Gl’(gi’fﬂ = {LQ C2 Ly Cl Lg:tLo C L1,tL1 C LQ}.
Show that for k € [0,n] and ¢ € Z we have exact triangles

Pr—1,0 % Prr1,6 = Prosr1 * Pro—1 — Pry* Pry
Pro* Prie— Pro—1* Pror1 — Pryie* Pro1y

in the derived category of Grgyr,, (here for notational convenience P_; , and P, 41
are interpreted as zero).

You might want to first assume £ = 0 to (at least) simplify notation. The general
case should follow fairly easily.



